Solutien 1 pAssiomment 1

22 @+ =xp+y)=x
®) c+yx+y)=x+ty=ax+y) tyxrty)=xxtxytay+yy=x
(© nzt+xyt+txz'=xyz+z)+txy=xy+xy=y
(d) (A+ B)(A'+ B)' = (A'B)(A B) = (A'B)(BA) = A(B'B)4 =0
) (a+b+c)ab' +c)=aa'b+ac + ba'b'+ be + c'a'’ + ¢'c = ac + be +a'b'’c’
() a'bc + abc’ + abc + a'be’' =a'bfc +¢)) + abfc +c)=a'b+ab=(a'+ a)b=b

23 (a) ABC+A'B+ABC'=AB+ AB=8

) Xyz+x2=(xy +x)z=2(x + X)Yx +y) = z(x +y)

© G+ +y) =xy(' +y) =xy’

) xy + x(wz + wz)) =X twz+ wz) =x(w +y)

(€) (BC'+ A'D)(AB' + CD!) = BC'AB' + BC'CD' + A'DAB’'+ A'DCD' =0

M @+cha+d'+c)=aa+ab' +ac'+ catcb'+cec’=ab +ac’+ac’+bie'=c'+ b'ta’+c’)
=c'+bc'+ab'=c'+a'b’

24 (@) A'C'+ ABC+ AC'=C'+ ABC = (C+CHC'+ AB) =AB + C’

) Y+ tziaytwz=(y)r vzt wi=[(x+yr'+ o] +xytwz=
=(z+z')(z+x+y)+xy+wz=z+wz+x+;y+y=z(l+w)+x(l+y)+y=x+y+z

(c) A'B(D'+ C'D) + B(A +A'CD) = B(A'D’'+ A'C'D + A +A'CD)
=B(AD'+ A+ A'D(C + C) = B(4 +A(D'+D))=B(A+A)=8B

@) @+C)(A4'+CHA+ B+ C'D)=(A'+ CC)A + B+ C'D) =A'(A+B+CD)
=AA'+ A'B+ A'C'D = A(B + C'D)

(€} ABC'D + A'BD + ABCD = AB(C + C)D + A'BD = ABD + A'BD = BD

29 () F'=@'+xy) = @)6Y =@+ )Ety) =+ 3y

M) F=[a+c)(@+b)a'+b+c)] =(a+c)+(a+d)'+(@+b+c)
=a'c’ + a'b + ab'c

@ F = [+ 20w + )] =2[r'(vw + )] = 2z + n2]’

= 2w )] = 2l + v+ W) +(x'+y' + 3)]
=zz+zv+zW +I% + 2y +2'z=2(v+w +x' +y)

211 @) F(x, 5,20 =2(1,4,5,6,7)

(b) Fa, b,c) =%(0,2,3,7)

Fexy+xy'+yz F=bc+ac
xyz| F abec | F
000| 0 000} 1
001 1 001 | o0
010} © 010] 1
011 | 0 011} 1
100 1 100 o
101] 1 101 0
110] 1 110} 0
111) 1 111 1




217 () F=(b+cdc+bd) bc+bd+cd+bed=3(3, 5,6,7, 11, 14, 15)
F'=3(0,1,2489 1012 13
F=TI10,1,2,4,89, 10, 12, 13)

abed] F
0000|0
000140
0010f0
001111
0100j0
0101]1
01101
0111]1
100040
1001}0
10100
1011]1
1100]0
11011
t1ofy
1111]1

(b) (ed + b'c + bd)(b + d) = bed + bd' + cd + bed = cd + bd'
= 2(3,4,7,11,12,14,15)
=11(0,1,2,5,6,8,9, 10, 13)

abed]F
gooofo
0001]0
ootiojo
00111
0100]1
010140
0110)0
0111]1
1000|0
1001]0
1010|0
1011{1
11001
11010
1110]1
1111]1

© (+d)b+c) =bc'+c'+ bd + cd=(c'+ bd)
=2(0,1,4,5,7,8,12,13, 15)
F=11(2,3,6,9,10,11, 14)



